
③ 





3x3x + 2y2y = 1212

5x5x − 3y3y = 1

① %３　　　　　　

9x9x + 6y6y = 3636･････････① ∏

② %２　　　　　　

10x10x10x − 6y6y = 2･････････② ∏

① ∏ +② ∏　　　　　　

19x19x19x = 3838

x = 2

x = 2を①に代入　　
3 % 2 + 2y2y = 1212

6 + 2y2y = 1212

2y2y = 1212 − 6
2y2y = 6

y = 3

(x , y) = ( 2 , 3 )

② 





3x3x − 2y2y = 7

2x2x + y = 7

② %２　　　　　　

4x4x + 2y2y = 1414･････････② ∏

① +② ∏　　　　　　

7x7x = 2121

x = 3

x = 3を②に代入　　

2 % 3 + y = 7

6 + y = 7

y = 7 − 6
y = 1

(x , y) = ( 3 , 1 )

① 





x + 2y2y = 8

x + y = 5

①－②　　　　　

y = 3

y = 3を②に代入
x + 3 = 5
x = 5 − 3
x = 2

(x , y) = ( 2 , 3 )

氏名連立方程式　B1

＜　　　年   月   日＞

③ 





4x4x + 3y3y = 1010

3x3x + 5y5y = 2

① %５　　　　　　

20x20x20x + 15y15y15y = 5050･････････① ∏

② %３　　　　　　

9x9x + 15y15y15y = 6･････････② ∏

① ∏－② ∏　　　　　　

11x11x11x = 4444

x = 4

x = 4を①に代入　　

4 % 4 + 3y3y = 1010

1616 + 3y3y = 1010

3y3y = 1010 − 1616
3y3y = −6
y = −2

(x , y) = ( 4 ,−2 )

② 





2x2x − y = 8

3x3x − 2y2y = 1111

① %２　　　　　　

4x4x − 2y2y = 1616･････････① ∏

① ∏ −②　　　　　　
x = 5

x = 5を①に代入　　

2 % 5 − y = 8

1010 − y = 8

−y = 8 − 1010
−y = −2
y = 2

(x , y) = ( 5 , 2 )

① 





3x3x + y = 7

x − y = 1

① +②　　　　　
4x4x = 8

x = 2

x = 2を①に代入

3 % 2 + y = 7

6 + y = 7
y = 7 − 6
y = 1

(x , y) = ( 2 , 1 )

氏名連立方程式　B2

＜　　　年   月   日＞



③ 





2x2x − 3y3y = 4

3x3x − 7y7y = 1

① %３　　　　　　

6x6x − 9y9y = 1212･････････① ∏

② %２　　　　　　

6x6x − 14y14y14y = 2･････････② ∏

① ∏－② ∏　　　　　　

5y5y = 1010

y = 2

y = 2を①に代入　　

2x2x − 3 % 2 = 4

2x2x − 6 = 4

2x2x = 4 + 6
2x2x = 1010

x = 5

(x , y) = ( 5 , 2 )

② 





5x5x + y = 8

3x3x − 2y2y = 1010

① %２　　　　　　

10x10x10x + 2y2y = 1616･････････① ∏

① ∏ +②　　　　　　
13x13x13x = 2626
x = 2

x = 2を①に代入　　

5 % 2 + y = 8

1010 + y = 8

y = 8 − 1010
y = −2

(x , y) = ( 2 ,−2 )

① 





3x3x + y = 7

2x2x + y = 4

①－②　　　　　

x = 3

x = 3を②に代入

2 % 3 + y = 4

y = 4 − 6
y = −2

(x , y) = ( 3 ,−2 )

氏名連立方程式　B3

＜　　　年   月   日＞

③ 





5x5x + 3y3y = 1

3x3x − 2y2y = 1212

① %２　　　　　　

10x10x10x + 6y6y = 2･････････① ∏

② %３　　　　　　

9x9x − 6y6y = 3636･････････② ∏

① ∏ +② ∏　　　　　　

19x19x19x = 3838

x = 2

x = 2を①に代入　　
5 % 2 + 3y3y = 1

1010 + 3y3y = 1

3y3y = 1 − 1010
3y3y = −3
y = −3

(x , y) = ( 2 ,−3 )

② 





3x3x + 2y2y = 8

x + 3y3y = 5

② %３　　　　　　

3x3x + 9y9y = 1515･････････② ∏

② ∏ −①　　　　　　
7y7y = 7

y = 1

y = 1を②に代入　　
x + 3 % 1 = 5

x + 3 = 5
x = 5 − 3
x = 2

(x , y) = ( 2 , 1 )

① 





5x5x − y = 7

3x3x + y = 9

① +②　　　　　
8x8x = 1616

x = 2

x = 2を②に代入

3 % 2 + y = 9

6 + y = 9
y = 9 − 6
y = 3

(x , y) = ( 2 , 3 )

氏名連立方程式　B4

＜　　　年   月   日＞



③ 





2x2x − 3y3y = 1

3x3x − 4y4y = 3

① %４　　　　　　

8x8x − 12y12y12y = 4･････････① ∏

② %３　　　　　　

9x9x − 12y12y12y = 9･････････② ∏

① ∏－② ∏　　　　　　

−x = −5
x = 5

x = 5を①に代入　　

2 % 5 − 3y3y = 1

1010 − 3y3y = 1

−3y3y = 1 − 1010
−3y3y = −9
y = 3

(x , y) = ( 5 , 3 )

② 





3x3x + y = 7

x − 5y5y = 1313

① %５　　　　　　

15x15x15x + 5y5y = 3535･････････① ∏

① ∏ +②　　　　　　
16x16x16x = 4848
x = 3

x = 3を①に代入　　

3 % 3 + y = 7

9 + y = 7

y = 7 − 9
y = −2

(x , y) = ( 3 ,−2 )

① 





x − 2y2y = 2

x + 5y5y = 9

①－②　　　　　

−7y7y = −7
y = 1

y = 1を②に代入
x + 5 % 1 = 9

x = 9 − 5
x = 4

(x , y) = ( 4 , 1 )

氏名連立方程式　B5

＜　　　年   月   日＞

③ 





4x4x − 3y3y = 9

3x3x + 2y2y = 1111

① %２　　　　　　

8x8x − 6y6y = 1818･････････① ∏

② %３　　　　　　

9x9x + 6y6y = 3333･････････② ∏

① ∏ +② ∏　　　　　　

17x17x17x = 5151

x = 3

x = 3を①に代入　　
3 % 3 + 2y2y = 1111

9 + 2y2y = 1111

2y2y = 1111 − 9
2y2y = 2

y = 1

(x , y) = ( 3 , 1 )

② 





x + 3y3y = 2

2x2x + y = 9

② %３　　　　　　

6x6x + 3y3y = 2727･････････② ∏

② ∏ −①　　　　　　
5x5x = 2525

x = 5

x = 5を②に代入　　

2 % 5 + y = 9

1010 + y = 9

y = 9 − 1010
y = −1

(x , y) = ( 5 ,−1 )

① 





2x2x − y = 7

x − y = 5

①－②　　　　　

x = 2

y = 2を②に代入
2 − y = 5

−y = 5 − 2
−y = 3
y = −3

(x , y) = ( 2 ,−3 )

氏名連立方程式　B6

＜　　　年   月   日＞



③ 





3x3x + 2y2y = 1313

5x5x − 3y3y = 9

① %３　　　　　　

9x9x + 6y6y = 3939･････････① ∏

② %２　　　　　　

10x10x10x − 6y6y = 1818･････････② ∏

① ∏ +② ∏　　　　　　

19x19x19x = 5757

x = 3

x = 3を①に代入　　
3 % 3 + 2y2y = 1313

9 + 2y2y = 1313

2y2y = 1313 − 9
2y2y = 4

y = 2

(x , y) = ( 3 , 2 )

② 





3x3x − 2y2y = 1010

2x2x + y = 9

② %２　　　　　　

4x4x + 2y2y = 1818･････････② ∏

① +② ∏　　　　　　

7x7x = 2828

x = 4

x = 4を②に代入　　

2 % 4 + y = 9

8 + y = 9

y = 9 − 8
y = 1

(x , y) = ( 4 , 1 )

① 





x + 2y2y = 7

x + y = 5

①－②　　　　　

y = 2

y = 2を②に代入
x + 2 = 5
x = 5 − 2
x = 3

(x , y) = ( 3 , 2 )

氏名連立方程式　B7

＜　　　年   月   日＞

③ 





4x4x + 3y3y = 1414

3x3x + 5y5y = 5

① %５　　　　　　

20x20x20x + 15y15y15y = 7070･････････① ∏

② %３　　　　　　

9x9x + 15y15y15y = 1515･････････② ∏

① ∏－② ∏　　　　　　

11x11x11x = 5555

x = 5

x = 5を①に代入　　

4 % 5 + 3y3y = 1414

2020 + 3y3y = 1414

3y3y = 1414 − 2020
3y3y = −6
y = −2

(x , y) = ( 5 ,−2 )

② 





2x2x − y = 6

3x3x − 2y2y = 8

① %２　　　　　　

4x4x − 2y2y = 1212･････････① ∏

① ∏ −②　　　　　　
x = 4

x = 5を①に代入　　

2 % 4 − y = 6

8 − y = 6

−y = 6 − 8
−y = −2
y = 2

(x , y) = ( 4 , 2 )

① 





3x3x + y = 1010

x − y = 2

① +②　　　　　
4x4x = 1212

x = 3

x = 3を①に代入

3 % 3 + y = 1010
9 + y = 1010

y = 1010 − 9
y = 1

(x , y) = ( 3 , 1 )

氏名連立方程式　B8

＜　　　年   月   日＞


